Sponsorship Level	Benefit	Quantity	FMV	Total
Pearl	Day Tickets	2	\$60	\$120
\$350	Loads of Love Temporary Tattoo	1	\$5	\$5
	Naked Dinner Postcards	Set of 12	\$20	\$20
			Grand Total	\$145
Amethyst	Day Tickets	2	\$60	\$120
\$550	Loads of Love Temporary Tattoo	1	\$5	\$5
	Naked Dinner Postcards	Set of 12	\$20	\$20
	JM! Olor La MORE! Candle	1	\$28	\$28
	Oh La MORE! Canvas Book Bag	1	\$20	\$20
	Name placement	1	\$50	\$50
			Grand Total	\$243
Emerald	Day Tickets	4	\$60	\$240
\$850	Loads of Love Temporary Tattoo	1	\$5	\$5
	JM! Olor La MORE! Candle	1	\$28	\$28
	Naked Dinner Postcards	1	\$20	\$20
	Oh La MORE! Canvas Book Bag	1	\$20	\$20
	Logo Advertisement	1	\$75	\$75
			Grand Total	\$388
Sapphire	Day Tickets	6	\$60	\$360
\$1,500	Loads of Love Temporary Tattoo	1	\$5	\$5
	JM! Olor La MORE! Candle	1	\$28	\$28
	Oh La MORE! Canvas Book Bag	1	\$20	\$20
	Premium Logo Advertisement	1	\$125	\$125
			Grand Total	\$538
Ruby	Day Tickets	8	\$60	\$480

\$2,500	Loads of Love Temporary Tattoo	1	\$5	\$5
	JM! Olor La MORE! Candle	1	\$28	\$28
	MORE! Canvas Tote Bag	1	\$20	\$20
	Cavallini Papers Gift Bag	1	\$60	\$60
	Premium Logo Advertisement	1	\$125	\$125
	5-day "Proud Sponsor" Instagram ad	1	\$50	\$50
			Grand Total	\$768
Lapis Lazuli	Day Tickets	8	\$60	\$480
\$3,500	Loads of Love Temporary Tattoo	1	\$5	\$!
	Olor La MORE! Candle	1	\$28	\$28
	Oh La MORE! Canvas Book Bag	1	\$20	\$20
	Cavallini Papers Gift Bag	1	\$60	\$60
	Framed JM! Portrait by Roger Erickson	1	\$100	\$100
	Premium Logo Advertisement	1	\$125	\$12
	Juanita's Fried Chicken Brunch	4	\$20	\$8
	7-day "Proud Sponsor" Instagram ad	1	\$70	\$7
			Grand Total	\$968
Alexandrite	Day Tickets	10	\$60	\$600
\$5,000	Loads of Love Temporary Tattoo	1	\$5	\$
	Olor La MORE! Candle	1	\$28	\$2
	Set of 4 JM! Coasters	4	\$15	\$1
	Oh La MORE! Canvas Book Bag	1	\$20	\$2
	Cavallini Papers Gift Bag	1	\$60	\$6
	Framed JM! Portrait by Roger Erickson	1	\$100	\$10
	Harris' Restaurant Gift Certificate	1	\$50	\$5
	Juanita's Fried Chicken Brunch	6	\$20	\$12
	Premium Logo Advertisement	1	\$125	\$12
	Logo on Banner at Event	1	\$100	\$10
	10-day "Proud Sponsor" Instagram ad	1	\$100	\$10

	Email Blast	1	\$100	\$100
			Grand Total	\$1,423
Musgravite	Day Tickets	12	\$60	\$720
\$7,500	Loads of Love Temporary Tattoo	1	\$5	\$5
	Olor La MORE! Candle	1	\$28	\$28
	Set of 4 JM! Coasters	4	\$15	\$15
	Oh La MORE! Canvas Book Bag	1	\$20	\$20
	Cavallini Papers Gift Bag	1	\$60	\$60
	Framed JM! Portrait by Roger Erickson	1	\$100	\$100
	Harris' Restaurant \$50 Gift Certificate	1	\$50	\$50
	Juanita's Fried Chicken Brunch	6	\$20	\$120
	Premium Logo Advertisement	1	\$125	\$125
	10-day "Proud Sponsor" Premium Instagram ad	1	\$150	\$150
	Email Blast	1	\$100	\$100
	Custom Banner at Day Event	1	\$200	\$200
			Grand Total	\$1,693
MORE! Diamond	Day Tickets	16	\$60	\$960
\$10,000	Loads of Love Temporary Tattoo	1	\$5	\$5
* • • , • • •	Olor La MORE! Candle	1	\$28	\$28
	Set of 4 JM! Coasters	4	\$15	\$15
	Oh La MORE! Canvas Book Bag	1	\$20	\$20
	Cavallini Papers Gift Bag	1	\$60	\$60
	Framed JM! Portrait by Roger Erickson	1	\$100	\$100
	Harris' Restaurant \$50 Gift Certificate	1	\$50	\$50
	Juanita's Fried Chicken Brunch	8	\$20	\$160
	Premium Logo Advertisement	1	\$125	\$125
	14-day "Proud Sponsor" Premium Instagram ad	1	\$210	\$210
	Email Blast	1	\$100	\$100
	Custom Banner at Day Event	1	\$200	\$200

Social Media Post	1	\$150	\$150
		Grand Total	\$2,183